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01-02

ADDITION AND SUBTRACTION OF WHOLE NUMBERS

Addition and subtraction are two of the most useful
and basic mathematical ideas. In our modern world we
could hardly take care of ourselves without them. Adding
bills,making change, and checking accounts are things
most people have to do. In this package you will learn
to understand addition and subtraction better and you
will get valuable practice in using addition and sub-
traction.

GOAL: To gain understandings which will lead to
greater accuracy in addition and subtraction of whole

numbers.

OBJECTIVES:

1. Given any two of the numbers,(they may be equal)
0,1,2,3,4,5,6,7,8,9, add them.

2. Given two whole numbers, add them. (No renaming
necessary.)

3. Given a sentence, tell whether it illustrates
the commutative or associative law,

4. Given two numberc, add them, using renaming if
necessary.

5. Given more than two numbers, add them from the top
or bottom.



01-02

OBJECTIVES: (Continued)

6. Given an addition problem, estimate the answer
by rounding to the nearest ten,hundred, or thousand.

7. Given equations like 3 +n= 9, x + 7 = 8, 81 + 43 = y;
write their solution.

8. Given a subtraction problem like 5 - 3, 13 - 8,
and so on, find the difference.

9. Given two whole numbers, £¥nd their difference,
no renaring. :

10. Given two whole numbers, find their differenca,
renaning, 1f necessary.

11. Given a verbal problem involving the use of
addition or subtraction of whole numbers translate
it into a number sentence and solve it.

12. Given a subtraction problem in which zeros occur
as digits, find the difference.




I. U. 01-02-01

The Set of Whole Numbers




01-02

OBJECTIVES:

1.

Given a number line, identify the set of whole
numbers and pair them with points on the number line.

2, Given two different whole numbers, identify whi-®
is less (or greater),

3. Given any two (they may be equal) of the numbers
0’1’2’3’4’5’6’7’8’9’ 8dd themo

ACTIVITIES:

1. Study page 21 AAMA and do margin exercises
1,2, and 3 (objective 1)

2. Study '"order” cn pages 21 and 22 and do margin
exercises 4,5,6,& 7 (objective 2).

3. Study "Basic Addition" pages 22 and 23, and do
margin exercises 8-~13 (objective 3)

4, Do exercise set 1, page 47. If you miss any of

the problems from 15-72, memorize the correct
answer for that combiration. (objective 1,2,& 3)



Criterion Test 01-02-01-01

1.

2.

3.

Identify the set of whole numbers by placing the
first 10 numbers on a number line,

- n i o\
* r—rt T t—— —r—t—t )

Identify which numbe: is less (or greater) by the
use of the symbols » and <.

(A) 3__5 (B) 45__ 30 (c) 7__17
Find the sum.

(1) 3+ 4 (15) 4 + 2 (29) 7+ 9 (43)
(2) 3+1 (16) 5 + 4 (30) 6 + 8 (44)
3)2+6 (17) 3+ 2 (31) 5+ 5 (45)
(4) 7+ 4 (18) 1 +1 (32) 5+ 4 (46)
(5) 3+6 (19) 8 + 7 (33) 5+ 3 (47)
(6) 8+ 3 (20) 9 + 2 (34) 2+ 2 (48)°
(7) 0+ 0 (21) 3+ 0 (35) 1 + 4 (49)
(8) 8+ 9 (22) 5+ 8§ (36) 5 + 2 (50)
(9) $ + 5 (23) 6 + 5 (37) 3+ 9 (51)
(10) 5+ 7 (24) 6 + 7 (38) 4 + 8- (52)
(11) 0+ 2 (25) 6 + 9 39) 5+ 0 (53)
(12) 4+ 9 (26) 0 + 6 (40) 6 + 6 (54)
(13) 8 +1 (27) 7+ 0 (4l) 7 + 7 (55)
(14) 3+ 7 (28) 9+ 9 (42) 0 + 8

Criterion Test 01-02-01-02

1.
2,

3.

Repeat question 1, Test 01-02-01-01

Identify which number is less (or greater) by
proyer use of the symbols > and <,

(™) 49___ 39

———

(A) 17__ 28 (B) 9__7 (c) 15__17

Repeat question 3, test 01-02-01-01

OOUHEHESAENNDNDENMDMNWPSEOOW
++++++++++ 4+
SHEHOIDDHOUMENWUMOO



Criterion Test 01-02-01-03

1. Complete the following number line of whole
numbers and circle the points 5,7,9,8 11 on it.

pd 4 i I e . - -
: s

0123, o ' o

2. Identify the larger number by proper use of the
symbols > and <.

(A) 25 50 (B) 75__ 50

3. Repeat question 3, test 01~02-01-01




Angwers to Criterion Tests

Test 01-02-01-01

2. (A) 3<5 (B) 49 > 30 ©) 7 <17

3. )7 (15) 6 (29) 16 (43) 9
(2) 4 (16) 9 (30) 14 (44) 16
(3) 8 (17) 5 (31) 10 (45) 9
(4) 11 (18) 2 (32) 9 (46) 6
(5) 9 (19) 15 (33) 8 47) 9
(6) 11 (20) 11 (34) 4 (48) 3
(7) 0 (21) 3 . (35) 5 (49) 6
(8) 17 (22) 13 (36) 7 (50) 10

(9) 14 (23) 11 (37) 12 (51) 8
(10) 12 (24) 13 (38) 12 (52) 8

(11) 2 (25) 15 (39) 5 (531
(12) 13 (26) 6 (40) 12 (54) 10
(13) 9 (27) 7 (41) 14 (55) 4

€14) 10 (28) 18 (42) 8

Test 01-02-01-02
1. Same as answer 1 on test 01-02-01-01
2, (A) 17<28 (B) 9>7 (C) 15<17 (D)49»39

3. Same as answer 3 on test 01-02-01-01

Test 01-02-~01 -03

1. .
8 0 11 12 13 14 6 17 18 19

2. (&) 25<50 (B) 75>50

3. Same as answer 3 on test 01-02-01-01




I. U, # 01~02-02

Addition
(No Renaming)

Qo
ERIC



01-02

You will need to recall the addition combinations from
I. U. # 01~02-01. You cannot learn to add larger numbers
until the basic combinations are kaown.

OBJECTIVES:

1. Given two whole numbers, write their sum when
no renaming 18 necessary.

ACTIVITIES:

1. Study page 24 AAMA and do margin ewcvcises 14-17
(objective 1).

2. Work exercise set 2 page 49-50, (objective 1).

Answers to margin exercises are on page 389.
Answers to exercise set 2 are on page 391.

10




Criterion Test 01-02-02-01

Add:
1. 5872
3125

5. 3217
4532

2,

7216
6543

Criterion Test 01-02-02-02

Add:
1. 5280
4312

5. 1276
4321

2.

7132
1234

Criterion Test 01-02-02-03

Add:
1. 9876
0123

5. 5432
4567

2.

8765
1234

3\

11

3. 1492
4407

3. 4221
1234

7654
2345

b, 1234
4321

4. 1777
3210

4. 6543
3456



Answers to Criterion Tests

Test 01-02-02-01
1. 8997 2, 13759 J. 5899

Teet 01-02-02-02
1. 9592 2. 8366 3. 5455

Test 01-02-02-03
1. 9999 2. 9999 3. 9999

12

4. 5555

4. 4987

4. 9999

5. 7749

5. 5597

5. 9999



I. U, # 01-02-n3

The Corrutative and Ansoclative Lavs
of Addition

13




01-02-03

You will need to recall that-

We use letters like a, and b, to stand for numbers.
Renenber that we can riake a hetter renersl statement
about nunbers by lettins letters like a and b stand

for any number than by using specific numerals like
2 or 3.

OBJECTIVES:

1. Given an addition nroblem, find the sum and use
the commutative law to check it by adding in the
oprogite order.

2. Given a gsentence like 3 4+ (f + 2) = (3 + ) + 2
use the associative law to complete it.

3. Given a sentence. tell whether it illustrates
the corrmutative or assoclative law.
ACTIVITIES:

1. Study pape 25 AAMA and Jo marnin exercises
18 through 21. (Objcctive 1)

2. Study page 26 and do rmarsin exercises 22
through 26. (2bjective 2)

3. trite Exercise Set IIY, napes 51 and 52
(Objective 3)

14




Criterion Test 01-02--03-01

1. Add and check, show all work:

) 7622 (B) 5134 (C) 1162 (h) 1945
5321 4321 3210 8044
2. Conmplete the following sentences.

Q) G+4)+9=5+ (4+

)

B) (T+2)+1=7+ 2+ __ )
€) 6+ (3+2)=(6+3)+ __ )
® 7+ O+8)=0+9+_)

3. Vhat law of addition, cormutative or associative,
is illustrated by each sentence.

(A) 7900 + 76 = 76 + 7009
(B) 8000 + (1001 + 670) = (8000 + 1000) + 690
(C) 0+ 89=282+0

M 4+ 2+3)=(4+12)+3

15




Criterion Test 01-02-03~02
1. Add and check, show all work-
(a) 2753 (B) 9216 (cy 1772 @ 2121
3123 3123 3123 3123
2. Complete the following sentences.
) B+2)+5=3+ (__ +5)
(B 7+ +6=7+ O+ __)
(€ 4+ (3+2)=(4+__)+2
D 6+ @+8)=(__+7)+8
3. Vhat law of addition, comnmutative or associative,
1s illustrated by each sentence?
(4 7+6=6+17
(B 7+ (6+5)=(7+6)+5
(C) 8+ (3+2)=(8+3)+2
M) 2+3=3+2

16




Criterion Test 01--02~03-03
1. Add and check, show all work.

(A) 7265 (3) 7132 (C) 1234 ") 5678
7632 7632 7632 7321

2. Conplete the following sentences.

A) (5+4)+3+2e5+ (4+ + 2

-7

(B 5+ b+ 3)+2

S+4+ (3+ )

€C) 5+4+ (3+2)=(5+__)+3+12

@ G+4+N+2=5+___ + (3+2)
3. What law of addition, cormutative or associative,
is 1llustrated by each sentence?
QD (Q+2)+3=1+2+3)
(B) 5+6=6+5
€ 7+ (6+9)=(7+6)+9
D) 7+ 11=11+7

17




Answers to Criterion Tests

Test 01-02-03-01

1. (4)

©)

(8)
©
(D)

3. @)
(B)
(©)
(D)

7622 5321 (8) 5134
5321 7622 4321
12943 12943 Q455
1162 210 (D) 1945
3210 1162 8044
4372 4372 9882

(5+4) +9 =5+ 4+ 9)
F+2) +1e7+ @+ 1)
6+ (3+2) = (6+3)+

-2

# (9+ 8) = (7+9) +

8

Comnwtative
Associative
Cormutative

Associative

18



Angswers to Criterion Tests

Test 01-02--03-02

1.

4)

©)

(4)
(8)
(9]
)

A)
(8)
(©)
@)

2753 3123
3123 2753
5876

5
1772 3
3123 1

et Gte———

4895 895

(3+2)+5=
(7+9) +6=
G+ 3+ 2) =

6+ (74+8) =

Cormutative
Associative
AsPoctative
Cogthutative

19

(B) 9216
3123

12339

() 2121
3123

5244

34 (2 +5)
7+ (9+ _6)
(b+ 3)+2
(6_+7)+8

3123
9216
12339

3123
2121

|

W
[ad
p-
>



Answers to Criterion Tests

Test 01-02-03-03

1. ()

(C)

2. (a)
(B)
©)
(D)

3. (4
(8)
(€)
o)

7265 7632
7632 7265
14897 14897
1234 7632
7632 1234
8866 8866

(5+4)+3+2
5+ (44 3)+2
544+ (3+2)
(54 64+ 3)+2

Assoclative
Commutative
Assgociative

Commutative

20

(B) 7132 7632
7632 7132

14764 14764
(D) 5678 7321

7321 5678

12999 12999
54 (b+ 3)+2
S5+4+ 3+ _2)
G+ 4)+3+2
5+ 4 +(3+2)



I. U. # 01-02~-04

Addition with Renanming

21




01-02

OBJECTIVES:

1. Given two mumbers, rename them if necessary and write
their sum.

ACTIVITIES:

1. Study pages 27, 28, AAMA and do margin exercises on
—hose pages (Objective 1).

2. WVrite exercise set 4, pages 53, 54.
(Objective 1)

The answers to the margin exercises are on page 390.
The answers to exercise set 4 are on page 391,

22



Criterion Test 01-02-04-01

1. 4825 2. 3597
7162 6275

Criterion Test 01-02-04-02

1. 9687 2. 4679
7896 7495

Criterion Test 01-02-04-03

1. 6789 2. 5678
1234 2345

3.

1492
5450

4778
9656

4567
3456

23

4.

5250
1125

5592
9877

3456
4567

5.

9876
6789

5678
9876

2345
5678



Answers to Criterion Tests

Tast 01-02-04-~01

1. 11987 2, 9872 3. 6942 4. 6375

Test 01-02-04-02

1, 17583 2. 12174 3. 14434 4. 15469

Test 01-02-04-03

1. 1. 8023 2. 8023 3. 8023 4. 8023

24

5. 16665

5. 15554

5. 8023



I. U. # 01-02-05

Column Addition

25




01-02-05

You will need to recall:

The commutative law of addition tells us that the order
in which whole numbers ave added does not affect the sum.

OBJECTIVES:

l. Given a column of numbers to be added, write
their sum and check it by adding in the rpposite
direction.

2. Given a column of numbers, write thelr sum by
finding pairs of numbers whose sum is 10 or a
multiple of 10.

3. Given a number, write a palindrome number related
to it.

ACTIVITIES:

1. Study page 29 AAMA and do margin exercises 34 and 35.
(Objective 1)

2. Study page 29 and do margin exercises 36 and 37.
(Objective 2)

3. Study page 30 and do Queries (A) and (B) in the
margin. (Objective 3)

4. Write exercise Set 5, pages 55 -~ 56. (Obiectives 1, 2)

26




Criterion Test 01-02-05-01

1. Add from the top. Then check by adding from the bottom.

(a)y 5 (B) 6 ) 7 () 5
7 8 9 9
9 7 6 7
3 4 8 8

2. Add: 1look for pairs of numbers whose sum is ten or a
multiple of 19.

(A) 6 (® 5 cy 7 () 15
3 4 9 24

4 7 13 5

1 15 s 6

]

3. Find the palindrome number related to 251.

Criterion Test 01-02-05-02

1, Add: 1look for pairs of numbers whose sum is 10
or a multiple of 10.

(a) 9 (8) 8 () 13 @) 21
5 7 16 7
6 4 7 9
11 2 4 13
.} 3 & 8

2. Add from the top. Then check by adding from the bottom.

(A 5 (B 8 (c) 6 o 4
7 4 9 3
9 9 7 9
8 7 8 8

3, Find the palindrome number related to 326.

27




Criterion Test 01-02-05-03

1. Add from the top, then check by adding from the bottom.

@ 3 {B) 6 c) 7 o) 7
7 2 4 8
9 5 9 6
3 8 8 4

N

Add: 1look for pairs of numbers whose sum is 10 or
a multiple of 10.

@A) 9 () 13 (c) 8 o) 21
7 14 7 7

1 7 2 19

3 6 4 6

3 4

e,

#. Find the palindrome number related to 567.

28




Criterion Test Answers

Test 01-02-05-01

1. (A) 24 (B)
2. (A) 20 (8)
3. 707

Test 01-02-05-02

1. (A) 35 (®)
2. (A) 29 (3)
3. 949

Test 01-02-05-03

1. (A) 24 (B)
2. (A) 20 (3)
3. 3663

25

31

24

28

21

40

29

(c) 30

©)

(©)
(©)

(©)

34

44

28

24

() 29

(D) 57

(o)
®)

(D)
@)

58
24

25
57



I. 0. # 01.02-06

Rounding and Estimating

30




01-02-06

You will need to recall.

What is meant by each digit in a standard numeral.
For instance, in the numézal 528 the digit 5 means '"five
hundreds', the digit 2 means ‘‘two tens'', the digit 8 means
“eight ones'.
OBJECTIVES:

1. Given a number, round it to the nearest ten,
humdred, thousand. and so on.

2. Given an additiorn problem, estimate the answer
by rounding to the nearest ten, hundred, or
thousand.

ACTIVITIES:

1. Study page 31 - 32, AAMA, and do margin
exercises 39 through 65. (Objective 1)

2. Study pages 32 - 33, and dc margin exercises
66 through 68. (Cbjective 2)

3. Write Exercise set 6. passs 57 — 58, (Objectives 1, 2)

31



Criterion Test 01-02-06-01
1. Round to the nearest ten.

(A) 8274 (B) 9324 (C) 1432

2. Round to the nearest hundred.

(A) 8274 (R) 9324 (C) 2849

3. Round to the nearest thousand.

(A) 8732. (B) 9324 (C) 2849

4. (A) Estimate the sum by rounding to the nearest
ten.

1492
1763
1945

(B) Estimate the sum by rounding to the nearest
hundred.

2280
1765
9876

(C) Estimate the sum by rounding to the nearest
thousand.

7980
1235
5498

32




Criterion Test 01-02-06-02

1. Round the following numbers to the nearest ten,
hundred. and thousand.

() 5280 (B) 1492 (C) 9999

2. Estimate the sum of the following numbers to the
nearest ten, hundred, and thousand.

(A) 1492
1972
3549
5280

Criterion Test 01-02-06-03

1. Round the following numbers to the nearest ten,
hundred, and thousand.

(4) 1928 () 8291 (C) 8769

2. Estimate the sum of the following numbers to the nearest
ten, hundred, and thousand.

(A) 4321
9876
1287
6543

33




Angwers to Criterion Tests

Test 01-02-06-01

1. (A) 8270 (B) 9320 (C) 1430
2. (a) 83970 (B) 93301 (c) 2800
3. (A) 9000 (®) 9000 (C) 3000
4. (A) 5200 (B) 17000 (C) 14000

Test 01-02-08-02
1. (A) 5280: 5300° 5000
~ (B) 1490- 1500:; 1000

(C) 10000: 10000 10090

2. (A) 12290- 12539- 12000

Test 01-02~-06-03
1. (A) 1930: 1900: 2000
(B) 8290:; 8309 8n00O

(C) 8770; 8890- °20

2. (A) 22030: 22009- 22000

34




I.vu. # 01-02-07

Solving Eqguaticns




01-02-07

You will need to recall:
1. That we can let letters such as n stand for numbers
such as 2, 5, or any number.
2. That in an equation we have tuvo expressions for the
same number separated by en equal sign. For instance,

2+ 2= 4 i3 an equation. 5 = 3 + 2 is an equation.
2+ n =4 1is an equation if n = 2,

OBJECTIVES"

1. Given an equation such as 3 + n = 9, or
X+ 7 =8, or 31 + 43 = y, write its solution.

ACTIVITIES:

1. Study pages 34 - 35, AAMA, and do margin exercises
69 through 80. (Objective 1)

2. Write exercise set 7, psges 59 - 60 (Objective 1)



Criterion Test 01-02-07-01

1. Find a replacement for r that makes each sentence
true. (Solve)

(A) 24+ n=6 (3) 5+ne=9 (C) 44+4n=75
D) n+5=7 () n+6=9 (F) n+3=10
G) 12+ 8=n (H) 7+ 7=n (1) 144+5=n

Criterion Test 01-02-07-02

1. Find a replacement for n which makes each sentence
true. (Solve)

(A) 7+ n=12 @) 54+ n=14 () 6+ n =10
M) n+5=15 () n+ 7 =21 (F) n+ 14 =21
G) 8+6=n (M 9+ 8=n (I) 6+7=n

Criterion Test 01-02-07-C3

1. Find a replacement for n which makes each sentence
true. (Solve)

(4) 8+ n =10 (B) 94+ n=18 (C) 4+ n=14
M n+5=10 (E) n+7 =10 (F) n+8=12
@G) 4+5=n (¥) 17+ 10=n (I) 549 =n

37



Answers to Criterion Tests
Test 01-02-07-01
1. (A) 4 (B) 4 @) 1 (®) 2
(E) 3 F) 7 @) 20 () 14 (1) 19

Test 01-02--07-02
1. (A) 5 (B) 9 ) 4 (M 10
(E) 14 F) 7 ) 14 B) 17 () 13

Test 01-C2-07-03
1. (@A) 2 (B) 9 (¢) 10 D) 5

(E) 3 (F) & © 19 (H) 27 (1) 14

38




I. u. # 01-02-08

Basic Subtraciion

39




OBJECTIVES:

1.

Given an addition sentence, write two related
subtraction sentences (except in cases like
4+ 4 = 8, where there is only one).

Given a subtraction gentence write two related
addition sentences (except in cases like
6 - 3 » 3 yhere there is only one).

01-02

3. Given a subtraction problem such as 5 -~ 3 or

13 - 8, write the difference.
ACTIVITIES:

1. Study page 36, AAMA, and do margin exercises
81 -- 82, (Objective 1)

2., Study page 3¢ and do margin exercises 83 ~ 85
(Objective 2)

3. Study page 37, and do margin exercises 87 - 95
(Objective 3)

4. Virite exercise set 8, pa;z:s 61 ~ 62 (Objectives 1, 2, 3)

40



Criterion Test 01-02.-08-01

l. Yor each sentence, writc two related subtraction

sentences,

A) 2+4=6 (B) 3+5=38 (C) 124+ 4 =16
2. For each sentence, write two related addition

sentences.

A) 16 -7=9 (B) 12 -4 =8 (C) 10-n=6

3. Find the difference.

) 16 -7 (B) 14 -5 ) 13 ~ 9 .

Criterion Test 01-02-08-02

1. For each sentence, write two related subtraction

serntences.

A 2+5=7 () 7+ 6 = 13 @€ 5+92=14
2. For each sentence, write two related addition

sentences.

(A) 10-n=14 (B) i"~nw= 4 (C) 15 -n=6

3. Find the difference.

() 17 -8 (B 12 - 9 (€ 15 -7

Criterion Test 01-02-08-03
1. For each sentence, write two related subtraction sentences.
(A) 5+4=9 B) 7+ 4 =11 (C) 8+ 9«17
2. For each sentence, uwrite two related addition sentences.
(4) 15 -9=6 (B) 12~ 4=8 C) 13-6=7
3. Find the difference.

) 9 -4 (B) 14 -5 (c) 16 -9

41




Answers to Criterion Tests

Test 01-02-08-01

1. (A) 6 - 4= 2 {B) §-~5=3
6 -2=4 8-3=5
2. (A) 16=7+09 (3) 12«8+ 4
16 = 9 + 7 12=4+ 8
3. (A 9 (B) 9 c) 4

Test 01-02-08-02

1. A) 7~-5=2 (B 13 -7=6
7~2=5 12 -6 =7
2. (A) 10=4+n (B) l4=n+ A
102+ 4 i =4 4+n
3. @) 9 () 3 (c) 2

Test 01-02-08-03

1. (A) 9-5=14 (8) 11 -4 =7
9~-4=35 1i-7=4
2. (A) 15=9+6 {(B) 12«8+ 4
S5=6+9 12 = 4+ 8
3. @A) 5 ® 9 cy 7

h2

(C) 16 -12=4
16 - 4 = 12

(C) 10=n+6
10=6+n

(C) 14 ~9=5
16 - 5=9

(C) 15=n+6
15« 6+n

(C) 17-9 =8
17-8=9

(C) 13=6+7
132 746



I. U. # 01~02-09

Subtraction

(No Renaming)

43




03-02

You will need to recall:

1. How to write a standard nuvmeral like 5287 in expanded
form like 5000 + 200§ + 80 + 7.
2. That in addition we add the ones digits together,
the tens together, the hundreds together, and so on.
OBJECTIVES -
1. Given two numbers write them in expanded form and
write their difference. (Mo renaming necessary).
2. Given two numbers, write their difference. (No
renaming necessary).
ACTIVITIES:
1. Study page 38 in AAMA, and do the margin exercises
96, 97 (Objective 1)
2. Study page 38, and do margin exercises 98, 99
(Objective 2).
3. Write exercise set 9, pages 63 - 64 (Objective 2)
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Criterion Test 01~-02-09-01

1. Urite the following standard numerals in expanded
form and f{rd the difference.

(A) 5769 (B) 4783
2543 3452
2. Find the difference.

(A) 7525 (By 5875 (C) 4755
4321 2345 3421

Criterion Test 01-02-02-02

1. Write the following numerals in expanded form
and find their difference.

(A) 7896 (B) 6987
4355 5346
2. Find the difference.

(A) 5280 (B) 7329 (C) 8976
4140 6228 7865

Criterion Test 01-02-09-03
l. Urite in expanded form then subtract.
(A) 6789 (B) 6543
1234 1231
2. Find the difference.

(A) 3498 (B) 7654 (C) 2579
2244 2244 1322
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Answers to Criterion Tests

Test 01-02-09--01

1. (A) 5000 + 700 + ¢ (B) 4000 + 700 + 80 +

0+
2000 + 500 + «0 + 3 3000 + 400 + 50 +
3000 + 200++ 20 '+ 6 1000 + 300 + 30 +

2. (A) 3204 (8) 13530 (C) 1334

Test 01-02-09-02

1. (A) 7000 + 800 + 9 (B) 6000 + 900 + 80 +
5

4000 + 300 +

=t W

0+6
0+5 5000 + 300 + 40 +
o0+1

3000 + 500 + 4 1000 + 600 + 40 +

2. (A) 1140 (B) 110 (c) 1111

Test 01-02-09-03

(O ~3

1. (A) 6000+ 700 + 8C + 9 (B) 6000 + 500 + 40 + 3
1000 + 200 + 30 + A_ 1000 + 200 + 30 + 1
5000 + 500 + 50 + 5 5000 + 300 410 + 2
2. (A) 1254 (B) 5410 (C) 1257
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I. U. # 01“02-10

Subtraction (With Kenaming)

47




01-02

You will need to recall:

1. Bow to write a standard numeral such as 5282 in expanded
form like 5000 + 200 + 80 + 2.

OBRJYECTIVES:

1. Given an equation like n = 67 - 59 or n + 59 = 67,
write its solution.

2. Given two whole nunbers, find their difference,
renaming if necessary.

ACTIVITIES:

1. Study pages 39 - 41, AsMA, and do margin exercises
100 - 107 (Objective 2)

2. Study page 41 and do margin exercises 108 - 111.
(Objective 2)

3. Vrite exercise set 17 pages 65 ~ 66 (Objectives 1, 2)
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Criterion Test 01-02-10-01

1. Find the difference

(A) 6769 (B) 6431
2367 2076
2. Solve:

(A) n =45 ~ 19
(B) n 4 87 =» 103
(B) n - 23 = 65

Criterion Test 01-02-10-02

1. Find the difference

(A 5432 (B) 3421
1789 1234
2. Solve:

(A) n=27 -9
{B) n 4 45 = 54
(C) n-14 =50

Criterion Test 01-02-10-03

1. Find the difference

(A) 3974 (B) 2654
2895 1876

2. Solve:
(A) 48 - 24 = n

(B} 48 - n = 24
(C) n+ 24 = 48
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(C) 7654
1765
(c) 9321
7654
(C) 4591
1999



Answers to Criterion Testa

Test 01-02~10-01
1. (A) 4402 (B) 3555 (C) 5883

2. (A) 26 (B8) 16 (c; 88

Test 01-02-10-02
1. (A) 3643 (B) 2187 (C) 1667
2. (A) 18 (B) 9 (C) 64

Test C1-~02-10-03

1. (A) 1079 (B) 778 (C) 2592
2. (A) 24 (B) 24 c) 24
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I.u. # 01-02-11

Number Sentences
and

Applied Problems

51




01-02-11

You will need to recall:

1. How to solve equations.

OBJECTIVES:

1. Given an applied problem, translate it into a
number sentence and solve it.

ACTIVITIES

1, Study pages 42 - 43 in AAMA, and do the margin
exercises 112 ~ 116 (Objective 1).

2. Write Exercise Set 11, page 67 - 68 (Objective 1)
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Criterion Test 01-02-11.-01

l. Translate into a number sentence. Do not solve.

(A) John Smith spent $25.00 for a jacket and
had $15.00 left. How much did he have to
begin with?

(B) Joe Blow was born in 1922. FHow old was he in 1972?

(C) B. G. Spender wrote checks for $15.00 and
for $35.00. His bank balance before
writing the checks was $60.00. How much
did he have left?

2. Parts A, B, C, - solve the number sentences
which you wrote for question 1 parts A, B, and C.

Criterion Test 01-02-11-02

1. Translate into a number sentence. Do not solve.

(A) Jack Amstrong 18 reading a book containing
549 pages. Pe has read 237 pages. How
many pages has he left to read?

(B) Chuck Rippey has changed jobs. His old
salary was $12,000.00 a year. Fis new
salary is $15,500.00 per year. Ho¥ much
was his increase in pay?

(C) Attendance at the Arnold—egilaway football

geme this year was 523 people. Last year
the attendance was 645. How much smaller
was this year's attendance?

2. Parts A, B, C, ~ solve the number sentences
written fdr problem 1 parts A, B, and C.
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Criterion Test 01-02-11-03

1. Translate into a number gentence. Do not solve.

(A) Jimmy the Greek lost a $50.00 bet that Callaway
would beat Arnold in volleyball. Pe had $75.00

before losing. lHow much did he have after
paying the bet?

(B) WwWill itblast wanted to mske a bomb. He needed

525 1bs. of T.N.T. He only had 350 lbs. How
much more did he need?

(C) Miss gipamdotty wanted to write a 500 question
test. %he fell asleep after writing the

- 343rd questioni. How many questions has she
left to write?

2. Parts A, B, C, - solve the number sentences written
for problem 1 parts A, B, and C.

54




Answvers to Criterion Tests
Test 01-02-11-01

1. (A) n - 25 = 15 or (B) 1972 - 1922 = n or
28 ¢+ 15 o n 1972 - n = 1922

(C) 60 -~ (15 + 35) = n or
n+ (15 + 35) = 60

2. (A) $40.00 -(B) 50 years () $i0.00

Test 01-02~-11~-02

1. (A) 549 - 237 = n or (B8) 15,500 - 12,000 = n or
n + 237 = 549 n + 12,000 = 15 500
(C) 645 = 523 = n or
n + 523 = 645
2. (A) 312 (B) 3,500 (c) 122

Test 01-02-11-03

1. (A) 75 - 50 = n or (B) 525 - 350 = n or

n+50m=75 n + 350 = 525
(C) 500 - 343 = n or
‘n 4+ 343 = 500
2. (A) 25 (B) 175 (C) 157
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Zeros in Subtraction
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01-02

You will need to recall:
1. How to write standard numerals in expanded form.

2. How to rename numerals in subtraction problems.

OBJECTIVES-

1. Give a subtraction problem in which zeros occur
as digits, write the . difference.

ACTIVITIES-

1. Study pages 44 - 45, AAMA and do margin exercises
118 = 131 (Objective 1).

2. Write exercise set 12 page 69 - 70 (Objective 1).
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Criterion Test 01-02-12-01
1. Find the difference.
(A) 40 (B) 405
3 174

(B) 409 (F) 1723
300 1005
Criterion Test 01-02-12-02
1. Fiud the difference.
(A) 50 (B) 505
38 333

(E) 298 (FY 9723
103 3005
Criterion Tes: 01-02-12-03
1. PFind the difference.
(A) 90 (B) 209
a7 145

(B) 498 (F) 5283
209 4007

(c) 306 (D) 49
257 30

(C) 505 (D) 474
258 230

(C) 306 (D) 48
121 20
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Angvers to Criterion Tests

Test 01-02-12-01

1. (A) 6 (B8) 231 (@) 49
(&) 109 (F) 718

Teat 01-02-12-02
1. @A) 12 (8) 172 () 247
(E) 195 (F) 6718

Test 01-02-12-03
1. (A) 43 (B) 64 ©) 179
() 289 ®) : 1276

®) 19

(D) 244

(o) 28

The End of Package 01-02
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